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5 53,519 (-4)

Z 56,897 (+10)
K 44,4615 (+18)
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i AQ 18R 5% 18R % R | R | R
[R\E=H] 418 1 187 1 231 0 178 0
ELH] 214 0 104 0 110 0 81 0
B H] 133 -1 61 0 72 -1 62 0
KEH] 34 0 16 0 18 0 16 0
N 12 0 4 0 8 0 5 0
fa =T 85 0 36 0 49 0 25 0
Eayest:il] 48 0 7 0 41 0 6 0
iR i) 486 -4 259 -4 227 0 291 -3
FEH] 25 -1 15 0 10 -1 14 -1
1B ] 203 1 88 0 115 1 96 1
== 169 -1 92 -1 77 0 89 -1
piadiil] 231 0 115 0 116 0 114 0
ZAH] 146 -1 66 0 80 -1 62 -1
1B ST 486 5 242 3 244 2 237 1
SFTH] 85 0 38 0 47 0 49 0
1GHaH] 106 0 51 0 55 0 36 0
EZES] 161 -2 78 -1 83 -1 95 0
—&T 0 0 0 0 0 0 0 0
NET 110 0 52 0 58 0 51 0
t&ET 140 -2 65 -1 75 -1 55 -1
N&ET 87 0 41 0 46 0 37 0
NET 161 -1 58 -1 103 0 32 0
T&T 240 3 90 2 150 1 115 1
1ok T 374 -1 164 0 210 -1 191 0
SiEH] 2,636 8 1,290 2| 1,346 6| 1,088 2
SEFRHE] 3,430 -4 1,639 -4 1,791 0 1,350 -2
EEH] 1,575 8 767 3 808 5 589 3
R a)=<tiil) 1,751 -9 904 -3 847 -6 781 -3
¥TERH] 407 0 185 0 222 0 176 1
FHATH]T 3,617 14 1,810 9 1,807 5| 1,606 9




1iB]4:i1] 2,467 3] 1,180 -2| 1,287 5/ 1,013 1
VEIERH] 2,124 9 1,012 4@ 1,112 5 678 2
JIFaHETE 4,885 2| 2,374 1 2,511 1 1,927 -3
J1IFa ] 2,103 4/ 1,025 5/ 1,078 -1 849 3
EBZRH] 9,631 -16| 4,674 -10| 4,957 -6 3,712 -11
=5H] 3,981 11 1,939 2| 2,042 9 1,522 2
JER EHET 1,207 7 621 4 586 3 510 1
EREFH]ER — 2,587 8| 1,227 4 1,360 4 901 2
EREFHTER 73 1,884 -1 910 2 974 -3 695 2
EREFHET P8 73 600 2 293 1 307 1 222 0
F 7K H] 5,681 -1 2,691 -2 2,990 1 1,970 -1
REANMET 157 -6 151 -6 6 0 145 -6
S 3RH] 14 -3 6 -2 8 -1 4 -3
E1TRE—TH 391 -5 202 -4 189 -1 181 -3
E1TRE”TH 297 2 133 0 164 2 137 0
E1TRE=TH -1 0 -1 0 0 0 -1 0
ETREUTH 0 0 0 0 0 0 0 0
ETREATH 229 -1 114 0 115 -1 78 0
rE5 0 0 0 0 0 0 0 0
TEE—TH 383 -1 174 0 209 -1 179 -1
TEEI"TH 691 1 331 1 360 0 319 -1
TEE=TH 320 -1 161 -1 159 0 142 -1
R —TH 465 2 218 1 247 1 222 1
e = 670 2 307 1 363 1 321 1
IRERET=TH 377 2 181 0 196 2 194 0
EMAFRET—T B 317 5 135 2 182 3 144 2
EMAFRET — T B 488 -3 233 -2 255 -1 241 -3
LB —TH 168 0 82 0 86 0 81 0
LA =T H 406 -1 197 2 209 -3 183 2
PR —TH 260 -4 135 -1 125 -3 146 -3
AR —TH 436 0 231 0 205 0 239 0
FZH—TH 134 0 62 0 72 0 58 0
=HZ—TH 321 0 152 0 169 0 155 0
[ E it 297 0 142 0 155 0 214 0
FEE—T B 193 2 91 0 102 2 98 0
IFEE] — T B 252 0 107 0 145 0 92 0
HFRE—TH 589 0 267 -2 322 2 232 1
TR =T B 376 0 172 0 204 0 153 0
TR =T 8 541 1 258 3 283 -2 237 1
FRAFETE T B 397 -1 173 0 224 -1 160 -1
FRETARTH 586 -5 259 -1 327 -4 219 -2
¥rRE—TH 210 -3 115 -1 95 -2 94 -2
FUEEIZTH 372 -3 213 -1 159 -2 215 -2




HIEEE—TH 436 -2 212 -1 224 -1 206 -2
HIEEE —TH 309 0 144 0 165 0 129 0
1EEE—TH 150 1 75 0 75 1 81 1
BEEI " TH 589 -7 283 -1 306 -6 281 -3
BEEI=TH 522 -1 276 3 246 -4 232 2
IEEEUT H 228 -1 101 -1 127 0 94 -1
IEREHTH 670 -4 312 -2 358 -2 343 -2
Kim#]—TH 316 3 157 2 159 1 134 1
XKim] —TH 217 0 108 -1 109 1 85 -1
AFH—TH 125 -1 58 -1 67 0 66 0
AFHZTH 11 0 5 0 6 0 6 0
RFH=TH 173 -2 86 -1 87 -1 81 -1
TaE]FE—TH 668 1 320 0 348 1 245 1
TasEIFE T H 332 0 153 1 179 -1 128 1
TasEIFE=TH 388 1 211 1 177 0 150 1
TasETFEIU T H 531 -6 249 -3 282 -3 220 -2
TERETFE AT H 618 0 290 -1 328 1 261 -1
TasETPE N T H 345 5 184 3 161 2 168 3
TEEIFEETH 675 6 320 1 355 5 314 3
TaE]FE\T B 642 -2 303 -2 339 0 277 -3
THREER—TH 1,473 4 699 0 774 4 617 1
THREERTTH 402 0 205 0 197 0 165 0
THRER=TH 668 -2 321 0 347 -2 281 -1
TARETRMNTH 1,119 -3 548 -2 571 -1 452 2
THRERATH 1,027 2 538 0 489 2 542 5
TESHEIERANT H 564 11 284 5 280 6 310 9
TEERETH 1,537 -5 773 -2 764 -3 673 1
TEEIERATH 1,222 -9 555 -3 667 -6 588 0
TEERNATH 427 0 210 -1 217 1 148 0
TasETIE—TH 73 0 44 0 29 0 64 0
TERETIE=TH 101 -1 65 -1 36 0 77 0
I\ &t 81,614 9| 39,560 -4| 42,054 13| 33,826 -2
AEHTE 102 -1 45 0 57 -1 65 -1
AEHTA 105 0 51 0 54 0 62 0
AEHTRA 13 0 5 0 8 0 10 0
A EH]/)\BR 105 0 48 0 57 0 48 0
A EH]TAH 6 0 4 0 2 0 5 0
AEH{EH 64 0 28 0 36 0 28 0
AEH IR 10 0 5 0 5 0 7 0
AEHTAE R 7 0 2 0 5 0 4 0
45 11 0 4 0 7 0 9 0
AEHXEET 423 -1 192 0 231 -1 238 =1l
IN=RvES) 30 0 16 0 14 0 20 0




IN=T: PN 35 0 16 0 19 0 26 0
IN=TIESOY 34 -1 14 0 20 -1 23 0
[~ SETER R 28 0 10 0 18 0 18 0
INZT =7 N 51 0 23 0 28 0 31 0
IN=TiI s 13 -1 8 -1 5 0 13 0
IN=TG 26 0 17 0 9 0 17 0
N1 IS 40 0 17 0 23 0 20 0
FEH] 32 0 17 0 15 0 21 0
=Bt X &St 289 -2 138 -1 151 -1 189 0
BIHEEpE5T 712 -3 330 -1 382 -2 427 -1
R SRETRE 1,354 -9 652 -4 702 -5 493 -1
TEIRETRIEE T 721 1 311 0 410 1 235 1
fEE SR ] [ FHER 1,245 -1 591 0 654 -1 423 0
HEIRETRE TR 1,079 11 535 4 544 7 388 3
% %ﬁ’ﬁ% 1,364 -6 678 -4 686 -2 472 -1
HE R 1,165 2 546 1 619 1 436 2
%ﬂxmgﬁ‘é 3,903 -9 1,887 -4 2,016 -5 1,439 0
fEERIth X S5 T 10,831 11| 5,200 -7| 5,631 -4/ 3,886 4
ERILIET EAEEF 2,104 -6 996 -2 1,108 -4 716 -4
ERILIE] T AEF 2,633 -1 1,307 -3 1,326 2 945 3
ERLLIETER/M I 2,009 -1l 1,004 1 1,005 -2 802 3
ERLLIETFEIR T 1,537 2 756 2 781 0 530 2
TS 1,153 9 571 5 582 4 425 6
ARLLET) R 2,275 4 1,122 1| 1,153 3 833 2
ERLLIETERIR T 5,548 4 2,673 4 2,875 o| 2,071 5
ALt X S5 T 17,259 11| 8,429 8| 8,830 3| 6,322 17
&a = 110,416 6 53,519 -4| 56,897 10| 44,461 18




